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1. 319 @Ry A9 3T H Tdd U a1 HiA-aTse ST o HTUR 9T 3okt FAf@d aliet & e sty
foram aram &1 af anue a9 A Trerd afaf¥e @ & ar faema & HTaR IR Geaar SA a8 al
roeht e fRiar e i snuet|

You have been called for the written test based on the online data furnished by you in the web application.
if you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. WU, 80 WAl W Yo WRA-YEcTRT h FT A ¢ 3N qedr i yafer 02 W g )
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. R fawedl afdd awf@es v & vt g fowd & A% v w6feow &9 @ #Er g |

The questions will be objective type with four options out of which only one will be unambiguously correct.

4, YT U FAT 04 3w g AR u@F wed Ica] FfAv Uh A& Frer v |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. Wedl & Ica &t & ToT 31ereT HNTAHR Sca-qieeanr & seeh|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. USRI, Scat-qi¥as A U v gl & e, Aeli/Hreh TAEr F afd uge v § AN 3ec-
g et & HATOIT Hfarer Y TR S AL Secll T TAT BT &

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet.

7. UEH YA & Tolv 3@ 3ea] Teld AT S|
Multiple answers for a question will be regarded as wrong answer.
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10.

11.

12,

13.

14.

15.

waﬁmﬁgﬁﬁq&agﬁﬁwmaﬂmmmgﬁ‘awwﬁﬁwmmwmmﬁl

Question booklet code printed on the top right comer should be written in the OMR answer sheet in the space
provided.

FET-GREAHT H TG ATH TUT T Tel Tord |

Enter your Name and Roll Number correctly in the question booklet.

NTHAAR Secl-qiecent & a3f afaflear dArefiareh vl & ate qge 37 ¥ & 1 sl @)

All entries in the OMR answer sheet should be with blue/black ball point pen only.

odreTT gier A TeTe it 3UTeUfa & & 3rae! gfa- e/ PIeRnT W gTaER =T iR

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

T, AIC AT Sy Y Hefed oFelf &) sttty
Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be
allowed inside the written test hall.

2 IR F LICS 2

o e g o .

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

-G 313t 379t 9rH T ww §

The question booklet can be retained by the candidate.

GRTT < RIA HE % ERTeT 38T Y TRt 1ot BIge Y gAY S §

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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What will be the output of the following program segment?
int i=0:

int sum=0;

for (i=1;i<11;i++)

{

sum=sum + i;

}

print (sum);
(a) 55 (b) 66 (c)y 45 (d) 35

HiATe shameel Iaurensi 7 3T BT w7 e &7

In Object Oriented Programming Concepts, what is an abstract method?

(@) U fafy Graer e RS soadiaar
A method which doesn’t have any method body

(b) wﬁﬁmﬁﬁmﬁmmwmﬁz_ﬁa%
A method with only a return statement inside the method body
) U e o fafe ¥ & 37z A vk u=r § oifrd A1 yRmma A a8
A method which has method body with one statement inside it but no return statement

(d) Eﬁﬁﬁﬁt’iﬁﬂﬁﬂﬁfNom of the above
frfat@d # @ Fiq-ar 7w 9% & P s U Fggevmmon §7

Which of the following is a valid constructor declaration for the class Book?

(a) public String Book() (b)  public float Book( )
(c) protected String Book( ) (d)  public Book()

HIA-HT IR €8T sl W0 F AT TAAT F1 SUGRT ALY Fd?
Which RAID type doesn’t use parity for data protection?

(a) 3RUATES 1/RAID 1 (b) HRUNATSSI4/RAID 4

(c) HRUE3E! 6/RAID 6 (d) IRTMSIT 5/RAID 5

fafaf@a & @ #ia-ar 5l quave &1 Rear a8 &2
Which of the following is not a part of UML?

(a) ?Jc:H—aﬂTH STATH/Usecase diagram

(b) <FelTH STAATH/Class diagram

(c) ufrefe Rere=fag STAINH/Entity Relationship diagram
(d) TrFaeg SRATH/Sequence diagram
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6. 3Afe waEa ¥ forw wgwd fafar = gi=w
Choose the method used for error detection
(a) \HAT Taf&/Parity Method
(b) T #iafaaar Jra/Cyclic Redundancy Check
(c) EfFHT %</Hamming code
(d) 3 FMAIL of the above

7. A=10101010 f@aei & T A XOR A &l 9dTl &<msU|
For inputs, A=10101010 Find A XOR A

() 01010101 (b) 00000000
(¢ 11111111 d) 10101010
8. fArafaf@a qoadl dET T T THF o gany f&ar e g1

Duty cycle of the following repetitive waveform is given by

F §
volts

T —T2— time

(@ TI (b) T1+T2
() TI/(T1+T2) @ TUT2

9. fardr uRyg I3 oot E FE wuAfAf ¥ A ¢ 9feF Faw @Y § 38 AR

......................... Fea ol

A pure abstract class where all methods are without method body is generally called as
(a) iaT @@/Inner class (b) 3o et a¥/final abstract class
(c) 3idusa/interface (d) YFsi/package

10. 9z / @A Y A R B & oifdd ¢F % o 9= & fov nf@a  wy &

................ Fed &
The time required to move the read/write head to the desired track of a disk is called
(a) qgﬁ/Latency (b)  HTFETH FIel/Access time
(c) 3IFAYUROT FIe/Seek time (d) 9T WIec/page fault
B 4 1386




11. mﬁﬁac++mwﬁwﬁm|%mmmmﬂiﬁ

Consider the following C++ Program, What is the output of this program"
int main( )

int sal;
sal=4+2*15;
cout<<sal;
return 0;

}
(@) 35 (b) 34 © 90 ) 30

12. g giwon 7 faafaf@a & sla-ar y@ad 2
Which of the following is/are mandatory in function declaration?
(@) STAITAA T8, YR AT Arsivreturn type, function name only
(b) wfdITHST <Isy, SEaD) «[H, UTdel AlA/return type, function name, parameters only
(c) STEel, YT A1H HATd/parameters, function name only
(d) R #ATH ATH/function name only

13. C++ﬁﬁﬂvﬁﬁ&méﬁ$%¢ﬁmg&u%mwmmm@

Which keyword is used to define the macros in C++?

(@) macro
(b) define
(c) #define

(@) 3feaRaa & a e o si€imone of the mentioned

14. F=faf@a @ & & Fia-ar Sddyarsdr e a1 e =38 82
Which of the following layer is NOT part of TCP/IP model
(@) Transport Layer (b) SessionLayer (c)  Application Layer (d) Network Layer

15. \iFeaR Tetwr & day & Ffaf@a =t § ¥ Fia-ar g
Which of the followmg statements is/are FALSE with respect to software testing ?

TH1: age-sred weor Afader=t av amenfa &
S1 : White-box tests are based on specifications;
TH: Seleh Sy TETOT e qx 3menfa §

S2 : Black-box tests are based on code;

TH3: Araehdr % ATST 9T TEHT TUeToT fndT SiTar &

S3 : Alpha testing is conducted at the developer’s site

() hae TH1 TUT TH2 ITeld §/0nly S1 and S2 are FALSE.
(b) Aol TH1 TUT TH3 3T &/Only S1 and S3 are FALSE.
(c) del TH2 TUT TH3 Tl £/0nly S2 and S3 are FALSE.
(d) UHIL, TH2 TUrTH3I GHT AT 8/All of S1, S2 and S3 are FALSE.
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16. ufawys Fiveda? Ao & Ted A, Fraof@a gaear 7 F ia-ar asaia 272

In the context of modular software design, which one of the following combinations is desirable?

(a) 3TW HsleT T4 3= gis AA/High cohesion and high coupling

(b) FTT GIAA aUT A7 Tﬂﬂ-‘l—ligh cohesion and low coupling
(c) Fe A a1 3= JIHA/Low cohesion and high coupling
(d) A= gaaa aur fae JIHA/Low cohesion and low coupling

17. &3 AHF TH R gRol )} AER fifaw, Gwd R Far & onr gany o

& e B atw 3 gRa § Refafa gest = wRar g2

Consider a database table named student, which stores the marks obtained by students for

mathematics in a class. What does the following query do?

DELETE FROM student

WHERE marks < (SELECT avg(marks)

FROM student);

(a) ung@éﬁmwﬁﬁmmm%
The query deletes all the records from the student table

(b) TE e Fedwe A Ao F & Tl e geraT  SET T CHF R Hed A 3
AFAT

The query deletes all the rows from student table where the value of the attribute marks is
less than the average mark

(c) TE YOO0T TCwT AHS TRON & FeFhierd gerall & STl feaT 141 31 A 3w AFHA T

The query deletes the column mark from student table where the value of the attribute marks
is less than the average mark

(d) TE TTOT AT TqAT T TRE T Teid & R i T e

The query is syntactically wrong and does not execute

18. T=afd & ¥ Fi-a1 3o TR $1 fcoaa R &1 3999 = 87
Which of the following uses Simplex mode of Data transfer ?
(a) E?CII“Z'{ & e A ®e/Print from Computer to Printer
(b) Bretae A378M/Internet Browsing
(c) <ol TR/ Telephone Communication
(d) 3'q?‘i?r?'f # T 18 ofr AET/None of the above

19. ¥RTHTE FEt F HRTHTH FT IR
In RSS Feeds, RSS stands for

(a) Really Synchronous Syndication (b)  Rational Synchronous Service
(¢) Really Simple Syndication (d) Rational Simple Syndication
B 6 1386




20. mwmmwmaﬁ@rﬁmmmmmmm
100 SIST/AFS AT & AT 3T FA AT WT & oo gl

Four channels are multiplexed using TDM. If each channel sends 100 bytes/second, then the bit rate
for the link is

(@) 400 bps (b) 800 bps (©) 1600 bps (d) 3200 bps

21. Fdr e & 2 wa qur 91 §U 3 FA TN WU §| TAF GFA B 5T At &
T gafts 2 frmaasard| RefefRa S asiaarawd 2

A system has 2 processes and 3 shared identical resources. Each process needs maximum 2 of those
resources. Which of the following is TRUE?

(a) HTERIEAS W &Y TahdT £/Deadlock may occur

(b) HTRITHS UL FHafr 77gT gldl/Deadlock NEVER occurs
(c) EHRAT HUITCT 290/ There will be starvation always

(d) 3‘1’{13?—[ # O FS o TET 7ET &/ None of the above are true

22. s ymH Aafafaa e I FENead FT §/A process executes the following code

for(i=0;i<p; i++)

{

fork();

}

giod Tafd Tohe 1 o1 qear

Total number of child process created

(@ 1 () p () 2% 4 2°

23. ITYUR-3 & yonelr H ArAfaf@a F @ sla-ar dv gRdfafte a8 &2

In base-3 number system, which of the following is NOT valid representation:

(a 0101 (b) 0202 () 1212 (d) 0303
24, ot CN B A ¥

The value of , %% nT+1)2n is ?

@ ¢ (b) 1 () e d) oo

25. Afof@a 39 ) AR HfATI/Consider the following statement:
int Data[2][4] ={10,20,30,40,50,60,70,80};

Value 30............... FETH qg'ﬂ' FHhd & (AT NTAT row-major order)
Value 30 can be accessed as --------<-—————- {assume row-major order)
(a) Data[0][3] (b) Data[l][2] (c)  Dataf2][3] (d) Data [0][2]
B 7 1386




26.

27.

28.

29.

30.

TEFE oo F fow 3gaE &1/A stack is useful for

(@) SSTREC gd/Breadth First Search

(b) YAUEcie/Recursion

(c) e FETH qfFd/Queue in a ticket counter

(d) IS 3G I FIa] dF qg?-l'fAccessing elements using index

afy e ¥R T F o Ot afa Rl safe = & Ay uw OfFT # Fitead
Far Srar & ar R sage F ARy F e Jieaar Brasr g

If a Queue is implemented with a linked list with two pointers fronf and rear, what will be the time
complexity to insert an element?

(@ OQogn) (b) Of(nlogn) © O (d O

T QUi 32T T HIROT F Fawearell FEr alel Aueree q F o A F AN h
FAdH H&AT TR §7?

What is the minimum number of fields in a node of a double linked list which can store one integer
data

(ay 1 by 2 (c) 3 (d 4
ey suronst F, e F T8 F FOE & 9T FA9 TH TET [/ &
e X Thd 67

In OOPS concepts, how can you access a protected method of class A from class B outside the
package?
(a) EIFT F-I'i-.pf C[g?IT ST Ghdl/It can’t be accessed

(b) 3R FH o FAH T F He &, Eﬁagqu'irm%
It can be accessed only if class B inherits class A

(c) mﬁaﬂﬁ%ﬁa#@mmﬁ BT A TN
It can be accessed only within the same package not from outside

(d) aﬁmaﬁqgmmm%aama’rmnaﬁaﬂmﬁ

It can be accessed only if class B overloads class A

el WO H 3T Tl oo gl

In operating system, Response time is :

() SEIAOT FHT W Gfet & T 7F form I For ¥
The total time taken from the submission time till the completion time

(b)  SREIATERROT T A ST Jfohdl ScTe E1eT & foiam T w0y
The time taken from the submission time till the first response is produced

(c) SRECCITERTOT GHY A HfAH IT3TYE 3 Tt = ek foran arn el wF g
The total time taken from submission time till final output is produced.

(d) TAH A P 3 FE/None of these
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31.

32.

33.

34,

35.

Yo, SRR, SgAT 3R WET & 3Rl E
Panther , Jaguar , Puma and Cheetah are examples of _ ?

(2) =3 ARIET A/ Windows Operating Systems
(b) FHF TR fAred/Mac Operating Systems

(c) U-ZISE HTIRIEHT FAETH/Android Operating Systems
(d) 3AH A F1S 8T A2T/None of these

At fa & @leT-ar 317 §2/Which of the following is FALSE?

(a) a;s"rd’r GateTg el 8/UDP is connectionless
(b) S AL &, TN FEUAHT §

TCP is connectionless, IP is connection-oriented

(c) THTAC 9i¢ 25 3R ThEd 9 21 T ST@THd &
SMTP uses port 25 and FTP uses port 21

(d) TIEIENT GEATET &/HTTP is stateless

3?'1?% 15 E3 | 1= 2 [OOSR H 999 3 EI/INSERT operation is fastest in

(a) %?ﬂﬁw HIRIT ®9T&a/Hash file organisation
(b) ErT BFUHT FNSA/Heap file organisation

() oW+ 7% T Garsa/B+ tree file organisation
(d) ?_':m?f GTIHI HITSA/Clustered file organisation

frdr Rfafese uaea & v Rl RARST TEtr & e & RfRfse graef
F RAoeae WRaT T T FHARIT B o FEd o

Probability of failure free operation of a system over a specified time within a specified
environment for a specified purpose is called

(a) Tgd/Robustness (b) eaTanEfficiency
(c) faeawsiraanReliability (d) Fuf¥c@/Durability

eRE 7 Afaf@a § @ Fa-ar s 1 2

In database , which of the following statement is TRUE :

(a) Teiehe I GrTATclel R ST Hehell §; oot 319 T eRTafele TéT R ST Hehelm
TRUNCATE can be rolled back; but DROP cannot be rolled back

(b) B9 R GRTETT Rl ST el §; e Totehe Y Qeiratcldl w181 19 ST Tkl
DROP can be rolled back ; but TRUNCATE cannot be rolled back

(c) Toehe YT T el I JeRTafeler T ST HoheT &
Both TRUNCATE and DROP cannot be rolled back

(d) THRT AUT Z QXA Y GGl FAET AT ST HheT
Both TRUNCATE and DROP can be rolled back
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36. el wEaR AT & fav @ weg aroft Hia-dr §2
Which is the correct truth table for XNOR gate?

X | Y | oueu X | Y | ouu
0 0 0 0 0 1
(@) 0 1 1 (b) 0 1 0
1 0 1 1 0 0
1 1 1 1 1 1
X | Y | oup
0 8] 0
(©) 0 1 0 (d) GT-PJ?R'T T g ud i 7&1/None of the above
1 0 0
1 1 1

37. few av % oRwa F weFd &7 ATl

Choose the simplified form of given logic circuit

A
4_%__ X
B

A A

B B

A A

> @ O—

(c) - : X

B 10 1386




38. falr dgex el 16 e wfafeaa quiel qanr fagere s wsaared quiint &1 3

................ £ RO < 8 4

The range of integers that can be handled by a computer processing 16 bit unsigned integers is from
(a) 0to2' (b) Oto2'-1

() 0to2" (d) 37dFa A ¥ =g ol TE/None of the above

39. g x=atz, y=2atgal i—ﬁ ?
Ifx—'atz, y= 2at, then% ?

(a) t by 2/t ) 1/t d 2

40. fardlr whrasor gdietor DY, g W AlSEN 1 elEr-IeET WU FAT FIT §; 35F
aE 347 | ASYAT N UHIFa fRAT STar § 3R wehary oderor R S g 39
....................... FEd Tl

An integration testing approach, where all modules are individually tested; then all those modules
are integrated and tested as a whole is called

(a) HsTaagdleToT/Sandwich testing (b)  fo9r FrgEToT/Big bang testing
(¢) HAAIT G{8T0T/Bottom Up testing (d) oY are; 9iaToT/ Top Down testing

41. @8 Aeuresr gferor Bty A8 82
Which is NOT a performance testing method
(@) R 9&T0T/Load testing (b) B GUETOT/Penctration testing
(c) Wicrael GIETUT/Stress testing (d) IS GAETU/Volume testing

42. UFe Feag & ar # I FYA AT

Choose WRONG statement about packet switching
(2) T HSR AT 3AVOT JHROT T 3TN FAT &

It uses store and forward transmission

(b) TS THF AT R ITA &
All packets follow the same route

(c) iy feawer $r gorarm 7 3 fawar &7 3rveaa e g
Bandwidth is not wasted compared to circuit switching

(d) Uc WUT R AT FHA§

Packets may arrive out of order

43. T35 FART H GUCCH, .o, & |igTT ¥9 g

In Cloud computing, the acronym PAAS stands for

(a) Peripherals As A Service (b)  Platform As A Service

(c) Pages As A Service (d) 3‘21'11}'?[ H A 1S 3 AST/None of the above
B 11 1386




44, %ﬁn&hmﬁmﬁ:aﬁqaﬁmﬁ:a&w%m%ﬁ#ﬁmmmﬂ
FAT RSN E A ITETFI AT oo Fed &1

When an attempt is to make a machine or network service unavailable to its intended users, the
attack is called

(a) @ar foRTeRoT gHdI/Denial-Of-Service attack

(b) HT USH gHe/Slow Read Attack

(c) HIT-ursT FERICET gAT/Cross-site scripting attack
(d) YT fead gAI Zero Day attack

45, ﬁmﬁﬁﬂ?ﬁa@mﬁ@aﬂa—mm%ﬂ?{m%mmﬂwmﬁ?

Which of the following malicious program can spread by itself without any human intervention?

(a) &F/Worm (b)  ETSi=1/Trojan
(c) ?FEIEa'\’JTx’Spyware (d) drsI"@/Virus

46. farfof@a C g Rawde &1 fete = gom?

What is the output of the following C code snippet?
#include <stdio.h>

void main{){

char strl[]="ISRO", str2{}="ISRO";

if (strl==str2) {

printf("both are same");

telse{

printf{("both are NOT same");

}
}

(a) &Il TATA &/both are same (b) T THIF LT E/both are NOT same
(c)  3FATIH Afe/compiler error (d) ﬂﬂﬂﬂ'ﬁ' ¥ TF 31 FEi/mone of the above

47, m&mmwmﬁﬁﬁam%%mﬁ@aﬁémﬂmwﬁm

ST 872
Which of the following address is used to determine the process on a host system?
(a) Logical address (b) Physical address (c) MAC address (d) Port address

48. TE nCrp=nCuiain=2

If nCy =nCss, thenn="2
(a) n=23/20 (b) 43 (¢} 20/23 (d 3
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49.

50.

51.

52.

53.

C & HINFARFT DIl T o, g &
Uninitialized pointer in C is called as

(a) Dangling pointer (b)  Null pointer
(c) Void pointer (d)  Wild pointer

frfaf@a faaedaar audsl & @ el Jivcdaw & 3udeuar fFaer §7
HATAHAAT ATET Tl (TACEITE) = 25 B AFAT AT FI (THALIR) =6 b

What is the availability of a software with the following reliability figures? Mean Time Between
Failure (MTBF) = 25 days, Mean Time To Repair (MTTR) = 6 hours

(@) 1% by 24% ) 99% d)  99.009%

HEETHTY § Rafef@a $ual T fTar fhifar) F=afaiea & 3 siq-ar o §2

Consider the following statements of RDBMS. Which of the following are correct?
. 3UAUE & g & fHTAUE H T B/Every relation in 3NF is also in BCNF

1.  NETAUE &7 g7 Y 30AUE 3 877 &/Every relation in BCNF is also in 3NF

(a) Fael [ Hﬁf %/Only I is correct
(b) 1UTII EiAT WY &/Both I and II are correct

(c) 13T II AT Tl §/Both [ and 11 are wrong
(d) hdaer 11 e &/Only 11 is correct.

Hadc AW 255.255.240.0 § YFd fRAr Acaw & fov w@emew Infady uansd &

Maximum number of host addresses that is possible for a network with a subnet mask
255.255.240.0 is

(a) 256 (b) 1024 () 4094 (d) 4096

s A foaer diftes wgfa 128 wAsh § 3R Al 99 w32 fee § 1 afe o
H WIES 8 Fell § a1 T56 RN & fohciealt gfafSear gikf?

A machine is with 128 MB physical memory and a 32 bit virtual address space. If the page size is
8 KB how many entries will be there in the page table?

(a) 2 power 19 (b 2 power32
(¢} 2 power 12 (d) 2powerl3

13 1386




54.

55.

56.

27.

taE A A & FUR F AR A 8 TSH F< H FA-T-FA AT g oo
g TR

To guarantee correction of upto t errors, the minimum Hamming distance in a block code must be

(@) t+] (b) t-2 )  2t-1 (d 2t+1

C-HIAAZIT &1 Re=fal@a @8 a1 tar &7

What does the following fragment of C-program print?
charc[] ="LAKEVIEW",

char *p=c;

printf("%s", p+p[3]-p[1]);

(a) LAKEVIEW (b) EVIEW
(¢) VIEW (d) IEW

8 TE W {3 Siearel fashedt &1 giaw)

Choose the correctly matched options

(a) WATOTA-3TATH TATOTIF/Authentication- Digital Certificate
ﬁﬂ-i‘cﬂﬁﬂ?lﬂ-m Flgﬁ'?TfNon-repudiation- Digital Signing
ﬁqm-ﬂmﬂ'monﬁdemiality— Encryption

(b) gAA-2fSed agfA/Authentication - Digital Signing
a‘-ﬁﬁ-i‘@ﬁ(’?lﬂ-@'ﬁw YHTUTYA/Non-repudiation- Digital Certificate
?ﬁ'q?ﬂ?lﬂT-?EﬁEHIConﬁdentiality- Encryption

(c) wAE-f3fAee A/ Authentication- Digital Signing
Hﬁ-i‘@(ﬁ'@lﬂ-@ﬁlﬁ YHTOTIH/Non-repudiation- Digital Certificate
m—w;flntegrity- Encryption

(d) 3'5@7*?[ H T IS AT T8 /None of the above

Tl HYaT 1 gy
Choose the CORRECT statement
(@) A+AB=A (b) A+AB=A+B
(c) AB=A+B () 33w |AVALl of the above
14 1386




58.

59.

60.

61.

62.

63.

)2 (1+j§)3£rf?,afr .......................... gl
Thedegreeof( ) ={1+ dy) is 7

(@ 3 (b) 2 (cy 4 (d 1

18707 3T Y IUTAT & HedTeheT S TIFA TFATH BT oo FEA ¢l
Technique used to evaluate the quality of test cases is called

(a) IcqfiadsT IEeToT/Mutation Testing (b)  TTIH TUETUT/Regression Testing
(c) TohT GLIET0T/Alpha testing (d)  FFIT/Debugging

e HYA N AT

Choose the correct statement

(a) 2ind OTe aveToT & Tt e §| FEETe adieTor H ¢Fe g sifeard

Stubs are essential in Top down testing; Test Drivers are essential in Bottom up testing
(b) < are gieTor I e grEaR AfAar ¥ geEeEe eTeT vyt HfFE g

Test Drivers are essential in Top down testing; Stubs are essential in Bottom up testing
(c) o are adieTor # FYOT FUT TFC g5 HiAAT |

Stubs and test drivers are essential in Top down testing
(d) SO FUA B A o T A L

None of the above statement is correct

Aead fosares # w@icall 8 FOR AP oo, F AIH A §

Server replication for network performance enhancement is through

(a) FTAM/Caching (b) AIEMirroring

(c) TISA/Compression (d) 3":|"{5,T=I—Ff # A FiS 8t AET/None of the above

saacles Ad & gAde §q feafaf@a & @ fra gragld &ov gleiwial &1 saam
e ST 872

Which of the following transport layer protocols is used to support electronic mail?

(a) URUTHSI/SMTP (b)  HBIVIP

(c) EEdVTCP (d) ZS/UDP

gferera MR ARfEe fAvea qwed # e &9 & garfed &= 82

UNIX based operating system stores password in which form,

(a) gafd/Hashed (b)  IGATET/Encrypted
(¢) TICT 9To/Plain text (d) ﬁ?ﬂaﬁa’Deerypted
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64. WWWW(#-M)wmmguﬁmﬁﬁﬁﬁmml
Simplify the following using three variable Karnaugh maps (K-map) F(X,Y,2) = 2.(0,2,3,4,6)

(@) X+YZ by Z+ XY () Z+ XY (d X+Z+Y

65. fam=faf@a C++ g Q9de =1 foela =1 &7

What is the output of the following C++ program Segment?

void check(int &argl)

{
argl = 550;

}

int main()

{
int arg = 10;
check(arg);
cout<< "New value of arg is " <<arg;
return 0;

}

(a) arg ST AT FIT 10 & 1/New value of argis 10
(b)  arg ST AT AT 550 §1/New value of arg is 550
(c) arg T AJT AT 15 §1/New value of argis 15
(d) arg I TAT AT 55 & 1/New value of arg is 55

66. C++ 3R Sirar # A @ Fuea & west A, ‘fnaly F IR & Feafaf@a & 9 sa-ar
87

In the context of Error handling in C++ and Java , Which of the following is true about ‘finally’ ?

(@) finally @8 3TAGR §/finally block is mandatory
(b) HYAE &1 TN &Y S FATfead FRam FTam $/1t will be executed only if exception occurs
(c) fe g 37aTe; STET g3 Y & $/ Frifeaa fmar Jrar §

It will be executed only if NO exception occurs

(d) 379aTE &1 A g1, 3q FRAffedd B srar g
It will be executed irrespective of exception occurrence
67. frafaf@d # @ Fler-ar 3Hiua T Soad a3 3T AR F THACT q_T FAGOT F
QEt AT §7

Which of the following open source framework manages processing and storing for Big Data
applications?

(a) BEWHadoop (b) ¥FCCH/Struts  (c)  TEEI/Spring (d) Use/Ant
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68.

69.

70.

71.

frfafea # ae8 3f0d a1 IIEFT IUINT & AAA HA-A7 §7?
Which of the following is the most suitable Data warchouse use case?

(a) TS TR fewe gﬁw?Te’Online Air ticket booking

(b) Bﬁ'ﬂﬂﬁ'?{ §fhaT SF-8=7/Online banking transactions.

{c) m HTIATH TSHIHOT JOTel/Online Hospital registration system
(d) Sterarg gRade fANOT/Climate change analysis

Feer faees & afiuar muilad fAass & glaarer 3w & g Rafafaa 7 @
HiT-ar &7

Which of the following is a solution for Starvation in Priority based Scheduling in Operating
System?

(a) WfCaching (b)y UTST/Aging
(©) tiI'1§?'I'.»’Paging (d) YT/ T hrashing

frafai@a syat # F Fia-ar wdr a8 g2
Which of the following statement is INCORRECT?
(a) HTRFEeT e $r daw faAwitega e Hefer fRear g
Kernel mode is the most privileged mode in Operating System
(b) & T WA FATeH Hid FIAT § O At IudFar faen § e faan A aga sar g
When a program makes system call, the mode is switched from user mode to kernel mode
(c) TRE P TRNH Feter [T H $her &Y AT & A Shaet 3T AT F1 Ak 2T Srwem
If a program crashes in Kernel mode, Only that program will be halted
(d) mﬁmﬁmmmmmmﬁmmq@m%

In Kernel mode, the program can access any hardware resource or memory address

39 9o @1 warg fhaer & fGd 45 fRA/ER & afd & 9 W 130 A @ w8
IS 30 V. H R FT Thar &7

What is the length of the bridge, which a 130 mt long train travelling at 45 km/hr can cross in
30 sec?

(@ 200FT/m (b) 225#H/m
(¢) 245#T/m (d) 250 FT/m
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72.

73.

74.

75.

76.

HEIgFT g 1 gite & fow gaifte sfag vadeave & #la-ar 32
Which is the most appropriate HTML tag to create a numbered lists.

(a) <dl= (b) <ul>
() <li> (d) <ol=

THEITATS H 3761 S0H0H FISH & 3IIT & o Sl iRa & ¥ ela-ar g2
Which of the following is an advantage of using a separate CSS file in HTML?

(a) faw-aiﬂ T T HTATT E'ff EIGI ?'/T he content becomes easy to manage

(b) FETE ST fafSie=T gferdat & fav sl i e st sme &

Easier to design sites for different devices like mobile
(c) WITHTH FIZel HRIF 81 AT § HR TR A5 AT Acash ¢Rhd HF FI &
CSS Files are cached and decrease server load and network traffic.

(d) 39w FHVAIL of the above

Frfefad & ¥ Fla-ar wEqea w1 Reesa 9o gaw 78 82
Which of the following is not a built in aggregate function in SQL?

(a) UdlSli/avg (b) HFG/max (c) ETcl/total (d) F3¢/count

R e Fo Rftd & & S ger RIFagS 32
Which of the following scheduling algorithm is always pre-emptive?

(a) e FH B Tes/First Come First Served

(b) 2T ST wEe/Shortest Job First

(¢) gdrTar A d3/Priority scheduling

(d) U3z fea AT d3/Round Robin Scheduling

AT ST fF 39 fRd 39 IEER 1 39T FF IS 9183 A9 T S T W [
AR 39 @ a wgEa A FAY W @ T ovgEd B S @ 3wy TR qu
¢ T FA-T &2

Suppose you are browsing the World Wide Web using a web browser and trying to access the web
servers. What is the underlying protocol and port number that are being used?

(a) UDP, 80 (b) TCP, 80
) TCP,25 ) UDP,25
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77. Taeataf@g Jmar fend o faar &

Consider the following Java program
class TEST{
public static void main(String args[])

{

public int x=3;

protected int y=6;

private int z=9;
System.out.println(x+y+z};
}

b

$H WIITH F HTHI0T A AT Telle] T IROTH 27 gram?

What will be result of attempting to compile and run the program?

(a) prints 369
(b) prints 18

(¢) IHTHINUT Hlcl aﬁ' 3cYeo1 AT &/produces compile time error

(d) TF 3TN X AT gl & At U el 3i9arg Gar &

It compiles fine but gives runtime exception

78. HENEAY 6 H W dUT AT Id & HFR oo gl

The size of source and destination addresses in IPV6 is

(a) 64 E/bit (b) 58fFe/bit (c) 128 f&e/bit (d) 256 [9e/bit

79. UH YR, s 60 R A /AR frafd A aa W e, 9 /. H TH O 9N v &l 39
T fr Jas fRast 872

A train running at the speed of 60km/hr crosses a pole in 9sec. What is the length of the train?
(@ 120#/m (b) 180 FHr/m () 324F/m (d) 150 #T./m

80. ol wers o1 T W gEX WA AT FF & WY & ae Al B oo g &

The switching of the CPU from one process or thread to another is called :

(a) YR FEad/process switch

(b) T FEaatask switch

(c) sy FeaW/context switch

(d) 3‘1’{5}? H ¥ F1E Y FTE1/None of the above

B - 19 1386




= & % fauw T / Space for rough work
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